
A-A ( 1 : 10 )

B ( 1 : 5 )

C ( 1 : 5 )

D ( 1 : 5 )

E ( 1 : 5 )

F-F ( 1 : 5 )

G-G ( 1 : 5 )

H-H ( 1 : 5 )

PROSPECTIVE VIEW

A

A

A

B

C

D

E

F

F

G

G

H H

NYLONNYLON TOP HAT33.00184  17

A2-70HH SCREW ISO 4017 - M20 x 80 - A2-7021.00182  16

A2WASHER ISO 7089 - 20 - 200 HV - A223.00183  15

AcciaioCRADLE ANCHOR M20 (120x150)25.00201  14

A2WASHER ISO 7089 - 16 - 200 HV - A223.00151  13

A2-70NYLOC NUT ISO 7040 - M16 - A2-7022.00155  12

A2-70HH SCREW ISO 4014 - M16 x 130 - A2-7021.00154  11

A2-70HH SCREW ISO 4014 - M16 x 100 - A2-7021.00153  10

A2-70HH SCREW ISO 4017 - M16 x 90 - A2-7021.00181  9

A2-70HH SCREW ISO 4017 - M16 x 50 - A2-7021.00180  8

EN AW 6082 T6TOP INNER RAIL13.00033 337

EN AW 6082 T6MAIN INNER RAIL13.00032 326

EN AW 6082 T6TOP RAIL NUT BAR10.00035 355

EN AW 6082 T6MAIN RAIL NUT BAR10.00034 344

EN AW 6082 T6TOP TRAFFIC RAIL (5 mm) L=11975 mm12.00042 423

EN AW 6082 T6MAIN TRAFFIC RAIL (6 mm) L=11975 mm12.00041 412

A444.0 T4"CURVE" POST H=1025 mm11.00036 361

PARTS LIST

MATERIALDESCRIPTIONCODEREVDRW N°ITEM

PROSPECTIVE VIEW

BEX

Systems

Obex Systems Limited

Unit 232

Blanchardstown Corporate Park 2

Blanchardstown

Dublin 15

Republic of Ireland

Tel. 00353 1 8665151

www.obexsystems.com

DATE

DRAWN

APPROVED

SCALE FORMAT SHEET

CODE

DRAWING N°

A2

SAFETY BARRIER CURVE 3.0B

30

CURVE

28/04/2015

PASQUALETTO

STEVANATO

PROJECT

00001.01

00001.01_300.dwg

1 : 20

4
3
8

2
6
4

60 60 70

25

70 60 60

60 60 70

25

70 60 60

5

5

8

0

2

2

3

3

2

11

13

2

6

13

12

10

13

3

7

13

12

OBEX "CURVE" BRIDGE PARAPET PERFORMANCE

DESCRIPTION VALUE

Product configuration

OBEX CURVE 3.0B

Performance level TL3/TL4 NCHRP 350

INSTALLATION

COMPONENT

TORQUE [Nm]

BASE PLATE BOLTS 50 ±5

RAIL JOINTS 40 ±5

RAIL TO POST 50 ±5

ALL BOLTS AND NUTS TO BE STAINLESS STEEL TO GRADE
A2/A4 CLASS 70 min. TO CURRENT BS/EN STANDARDS.

300060 300060

125÷2875

~400

1

14

8

5

13

12

12 13 4 9

150

1
2
0

2
0

-

1
0

0
+

1
9
8
,
5

16

15

17

14

25 mm MIN

ENGAGEMENT IN ANCHOR

APPROVED

NON SHRINK GROUT

3
6
9

1
0
7
0

~


